
Extensionset VESA 800
XTR-LA-VESA800

INSTALLATION MANUAL

700x700
700x800
800x800

6

5

M-C or M-D or M-E

M-G or M-H

M-F
M-A or M-B

M-F



4

M5x14 (x4)
M-A

M6x14 (x4)
M-B

M6x30 (x4)
M-C

M8x30 (x4)
M-D

(x4)
M-F

(x8)
M-G

(x8)
M-H

M8x50 (x4)
M-E

P-1 (x2)

P-3

P-3 (x4)

A (x16) B (x4) C (x4) D (x4)

P-2 (x2)

3

2

1

P-1

P-1

P-2

P-2

P-3

Please remove the original 
4 screws on the current 
products �rst

Then install the 4 screws on t
he extension VESA strips.

A

A

D

C

B

(N)


